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4
E‘io 3,940,349 0 3,940,349 4,169,663 4,169,663 229,314
BN 2,202,565 o| 2002565| 2423188 2,423,188 220,623
T
SR 1,094,459 o|  1.004450| 1,138,159 1,138,159 43,700
53,000,008 #1 4] -53,000,000
9,300,002 1 A 9,300,000
43,700,000
412
iz 398,685 0 398,685 425,703 0 425,703 27,018
27,018,000 %1 4] 27,018,000
27,018,000
4113
S as 227,589 0 0 227,589 271,265 0 271,265 43,676
4,964,002 +1 A 4,964,000
38,712,000 %1 4] 38,712,000
43,676,000
14
Y mmaa 144,520 0 0 144,520 154,334 0 154,334 9,814
o2 2t
¥2 2 500,0008%1 4 300,000
=2 2 Hugs2
el e 2 720,000 %1 Al 720,000
~771.00021%14] 771,000
310,0002 %1 A1 310,000
50,0002 1A 50,000
204 2,480,008 +1 A ~2,480,000
311.00021%14] 311,000
A0 M2 DEEED 2N -600,0008 Al -600,000

- 25—




NE ( wdl ) (291 : ®2)

AZ S 201252 0l & 201220 & . & & 2 A
o (A-B) _
N B B ssas | ozan | WEAM 230(A) s=28y | =2 3 (8) 20124 =Zo| &
[ZZIAZZA 20 D222 A2 ~517.0002 *1 A! -517,000
[ZZHIAIZFZAN 24001 CI2 HZEES 20 —5,900,0002 14! ~5,900,000
[ZZIAZB2A 20} ALBEE A ~706.0002 %1 A! ~706.000
[ZATAZZAL 2400 M2 221912 294 -8,970,00024+1 4! -8,970,000
[ZZIAZ2A 2O =0} A2 ~653.0002 *1 A! -653,000
[ZZH]HKD A ABtOI2 20} 4,911,000 %1 4! 4,911,000
2 Az 6,843,000 %1 A! 6,843,000
-9,814,000
4115 236,185 236,185 331,200 331,200 -95.015
LIDJLDrOl 2
~101,990,000 8 *1 4! -101,990,000
~900,0002 *1 A! -900,000
2 7,875,000 %1 A! 7,875,000
-95,015,000
4116
ceioa 2,000 2,000 2,000 2,000 0
4117
Dalexa 4,228 4,228 2,628 2,628 1,600
1,600,0008 %14l 1,600,000
1,600,000
4118
P 94,899 94,899 97,899 97,899 -3,000
~3,000,0008 %14l ~3,000,000
~3,000,000
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(ZF]H/ALY A2 ~18,536,0002 %1 4] ~18,536,000
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(27)=AYBHE A ~500,0002 14l ~500,000
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ECIECT O ) ~1,500,0002!#1 Al ~1,500,000
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ga:wum%%%giwg ARBY FNE (o 0 4,656,000
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EEILEERE ~3,000,0008! 1 Al ~3,000,000
(22]HBH ABE o =2 ~1,871,250%+1 Al 1,871,250
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(2209 222 gs =2 -600,00021+14] -600,000
B A 13,871,250
4228 _
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(ARSI MRS Baliat->XB 44 - B
Py 300,00021 14l 300,000
(22]ZuDS 28 =0} 1,000,000/ %1 4] 1,000,000
(27)z2ne S8y A ~50,00021%1 4] 50,000
(2] 2STNLDY Halbl A2 1,470,008 1 A ~1,470,000
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(ZB]SHBB S8l A2 1,860,002+ 14! ~1,860,000
(2] DO alb| A2 ~100,0002 14} ~100,000
(ZBAE B2l 83l A2 -2,961,5302+1 A 2,961,530
(]S Balbl A2 1,000,000 1 Al ~1,000,000
(=B]0Hste B3l A2 -400,00021%14] -400,000
S ~7,656,530
;|2§9¢¢§ 375 1,800 0 2,175 465| 10,800 11,265 9,090
gﬁé‘fﬁé@ﬁ?g BHUSHISTZE 00 0aia 300,000
(ZH]RS2A MHIA 242 B2 -465,60421%14] -465,604
[(£F]2201B 448 42 8,924,396 +1 Al -8,924,396
CRE -9,090,000
‘_g;om 522,348 0 0 522,348 665,376 0 665,376 143,028
“;;‘igm 46,928 0 0 46,928 55,762 0 55,762 8,834
ESIET R ITNE T 57,6008 %1 4] 57,600
(227124 22 A2 -188,00021%14] ~188,000
(2B]AEBRY 2HSYH =0t 180,0008! +1 Al 180,000
(2] AEB2IY Sob= A2 -783,20021%14] ~783,200
EE) IR JYPNED ~1,000,0008! +1 Al ~1,000,000
(22]E53 X2y A2 -600,00021%14] -600,000
[2Z]ZYNS DE A2 SMH A2 -6,500,0008 +14] ~6.500,000
B -8,833,600
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B 2,900,000
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e
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(2] QNS Aol ~26,000,0002 %14} 26,000,000
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(]2 S0y 2T A 2o ~1,800,00021 1 Al ~1,800,000
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